
Física IV

16 novembro 2020

Ótica 




Experiência de 
Young 

d

L



Experiência de 
Young 

�1 �0.5 0 0.5 1
0

0.2

0.4

0.6

0.8

1

d = 5�

x

L

I/
I m

a
x

⟨S⟩ =
2

μ0ckρ
cos2( πd sin(θ)

λ )

E DO

P



E DO

P

E D

d D

�

E
✓

✓�

⟨S⟩ =
2

μ0ckρ
cos2( πd sin(θ)

λ )

d sin θ = λ

<S> máximo

Experiência de Young

Diagrama simplificado 



E DO

P

E D

d D

�

E
✓

✓�

⟨S⟩ =
2

μ0ckρ
cos2( πd sin(θ)

λ )

<S> máximo

Experiência de Young

Diagrama simplificado 

d sin θ = mλ



E DO

P

E D

d D

�

E
✓

✓�

⟨S⟩ =
2

μ0ckρ
cos2( πd sin(θ)

λ )

<S> máximo

Experiência de Young

Diagrama simplificado 

d sin θ = mλ

Interferência



Experiência de Young

Caminho ótico

E DO

P

⟨S⟩ =
2

μ0ckρ
cos2( πd sin(θ)

λ )

dEA = d sin θ

E D

d D

A

E
✓

✓�



Experiência de Young

Diagrama simplificado 

E DO

P

⟨S⟩ =
2

μ0ckρ
cos2( πd sin(θ)

λ )

dEA = d sin θ

E D

d D

A

E
✓

✓�

cΔtEA = d sin θ
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